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A NGAZUHSEH2
M LRASENIN T 435" &=
ol NSzged Jga=s EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
PNE-ES=lE=pski i) 67,858,971 58,492,171 9,366,800
= 40,544,400 32,326,400 8,218,000
CH 20,737,201 20,737,201 0
< 6,577,370 5,428,570 1,148,800
2RASEUXE &8s &2 45,959,595 36,731,79% 9,227,800
= 40,475,400 32,265,900 8,209,500
[ 5,484,195 4,465,895 1,018,300
ANegged Jigta= 19,165, 100 17,739,100 1,426,000
z 16,207,400 15,097,900 1,109,500
< 2,957,700 2,641,200 316,500
ANSnSHUHYH = 119,200 19,200 100,000
308 XXM SOIA 100,000 0 100,000
13 SI[2SOHe & EAS A 100,000 0 100,000
OUE2I= XIYAILH AT =D} 100,000 0 100,000
NASHAHA 2SN (=1D) 82,800 99,800 A17,000
= 41,400 49,900 28,500
< 41,400 49,900 28,500
201 Ler23| 43,800 37,200 6,600
= 21,900 18,600 3,300
[ 21,900 18,600 3,300
01 AtR2t2ll 43,800 37,200 6,600
OXgAtAZ & X 28| 43,800 37,200 6,600
z 21,900 18,600 3,300
< 21,900 18,600 3,300
202 Ot 9,000 5,000 4,000
= 4,500 2,500 2,000
< 4,500 2,500 2,000
01 =LHoi 9,000 5,000 4,000
OXILAITHXIHE 24 9,000 5,000 4,000
= 4,500 2,500 2,000
< 4,500 2,500 2,000
207 ARl 0 27,600 N27,600
z 0 13,800 13,800
< 0 13,800 13,800
01 H7ESHI 0 27,600 A27,600
OXX2d - oged L NSASFA 2 AR
== 0 27,600 A27,600
= 0 13,800 13,800
< 0 13,800 13,800
JBILMET 22UFE XA (ZD) 255,000 0 255,000
= 170,000 0 170,000
[ 85,000 0 85,000
308 AtXIEMSOIE 255,000 0 255,000
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2 NAAZHSE N2
M AASENNE 3™ &=
ol ASmged Jig+=s EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 170,000 0 170,000
= 85,000 0 85,000
18 SO 2ASHUEHE XN AE AR 255,000 0 255,000
OIIEHEL =QLUEE X2 AL 255,000 0 255,000
= 170,000 0 170,000
< 85,000 0 85,000
244 SOE FAXS L2012 HEAL(21D) 948,000 0 948,000
z 948,000 0 948,000
403 X SHHMSAH=01H 948,000 0 948,000
= 948,000 0 948,000
01 REXIEHHIXtE 24 948,000 0 948,000
O'24d SHE FHAXNS HEA WA 948,000 0 948,000
= 948,000 0 948,000
ZHUSENXE ZeILERS & At 140,000 0 140,000
308 ARISHMSOIH 140,000 0 140,000
13 SO 2 SOUEHE 4 X 2AS A 140,000 0 140,000
OLASLIXE ZRIIHES Y AL HAl 140,000 0 140,000
KNS HEI|BAE =E 9,585,000 1,918,000 7,667,000
= 7,400,000 300,000 7,100,000
= 2,185,000 1,618,000 567,000
FEOIZSHFAAFEINS S SEHL(22) 7,400,000 300,000 7,100,000
= 7,400,000 300,000 7,100,000
403 MXISHHSI=01H 7,400,000 300,000 7,100,000
z 7,400,000 300,000 7,100,000
01 RIXIEHHIXt=EE 7,400,000 300,000 7,100,000
O=FeIZSHALFHAY S Kz 7,400,000 300,000 7,100,000
z 7,400,000 300,000 7,100,000
KIS HEAL XIS 2,185,000 1,618,000 567,000
403 MXITHHS 201N 2,165,000 1,598,000 567,000
01 RIXIEHRIA 2 2 2 2,165,000 1,598,000 567,000
odg=st Rel0E ZdAY 2,165,000 1,598,000 567,000
INE:Faa=bl 1= 16,968,000 16,868,000 100,000
z 16,868,000 16,868,000 0
< 100,000 0 100,000
N2 SEEXH AMG(=1) 2,598,000 3,540,000 A942,000
z 2,598,000 3,540,000 942,000
403 MXITHHS 201N 2,598,000 3,540,000 A942,000
z 2,598,000 3,540,000 A942,000
01 REXIEHRIAt 2 2 2 2,598,000 3,540,000 A942,000
OXNS=2 XS A 2,598,000 3,540,000 942,000
= 2,598,000 3,540,000 A942,000
SNHAEXF JIBAIEXIH (=12) 4,442,000 3,500,000 942,000




SN NHABST M

M AASENNE 3™ &=

el NSz gne EER=E)

A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
= 4,442,000 3,500,000 942,000
403 MR HMSAHE01H 4,442,000 3,500,000 942,000
z 4,442,000 3,500,000 942,000
01 XIXISHX=EE 4,442,000 3,500,000 942,000
OFE X7 JIEHAIE XI& 4,442,000 3,500,000 942,000
as 4,442,000 3,500,000 942,000
ZESENXE XNGHEAE =8 EES 100,000 0 100,000
401 AIEHIZL 20| 100,000 0 100,000
01 Al&HI 100,000 0 100,000
OLASENIE NGNEAE -8 S 100,000 0 100,000
NEotsgs =8 241,49 206,695 34,800
NEotsE 2 = 241,49 206,695 34,800
307 212+01H 223,495 188,695 34,800
03 2RI HEE2SHIEX 188,49% 153,695 34,800
OXHIIHsEHE S 24 188,495 153,695 34,800
ZYUSEINNE 8358 & 21,715,001 21,593,001 122,000
CH 20,737,201 20,737,201 0
= 977,800 855,800 122,000
Nx2d 2d3 =N 9,700 64,700 35,000
asd Ase =2 =& 9,700 64,700 35,000
307 212+0l1H 45,000 10,000 35,000
02 LB HAHE X 45,000 10,000 35,000
02025 2ASEXNXE KXI2H HE 35,000 0 35,000
eIy 2dst A 21,397,801 21,345,801 52,000
CH 20,737,201 20,737,201 0
& 660,600 608,600 52,000
ZAUSENXE XSFAE =5 24 e & g2 352,000 300,000 52,000
308 XXM SOIA 352,000 300,000 52,000
18 SO 2SS &4 X AS A 352,000 300,000 52,000

OHHASENXE NFAE =5 24 JHA

2 EE 352,000 300,000 52,000
OHE A0 2=0l Fe FHAA =4 217,500 182,500 35,000
A0 =0 [ IHAE =4 168,000 133,000 35,000
201 Let=Ehl 13,000 8,000 5,000
01 AlR2telHl 13,000 8,000 5,000
oA=0 =g & X 13,000 8,000 5,000
308 ARISHMSOIH 130,000 100,000 30,000
01 MAEHBEx= 130,000 100,000 30,000
O2l=lx0 HEXA A 130,000 100,000 30,000
AY2IIH(NSFLEUHSEH 2 184,375 167,375 17,000
= 69,000 60,500 8,500
< 115,375 106,875 8,500
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SN NHABST M2
B2 WHSAAH|(NALLHST )

cH9l: ol 2| CEEE)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2

SEEET 138,000 121,000 17,000

2 69,000 60,500 8,500

= 69,000 60,500 8,500

NS AHH S (2D) 138,000 21,000 17,000

2 69,000 60,500 8,500

= 69,000 60,500 8,500

101 Q124 138,000 21,000 17,000

2 69,000 60,500 8,500

= 69,000 60,500 8,500

PIEEEES 138,000 21,000 17,000

DI2tol ML B4 138,000 121,000 17,000

2 69,000 60,500 8,500

= 69,000 60,500 8,500




